
 

 

• 

𝑝 =
108

480
=

9

40
=  0,225

𝑝 = 22,5 %

• 

15 %  𝑑𝑒 480

15 % × 480 =
15

100
× 480 = 72



 

60 %  𝑑𝑒  40 % = 60 % × 40 % = 0,6 × 0,4 = 0,24 = 24 %

24 %

⊂ ⊂

𝑝1

𝑝2

𝑝1 × 𝑝2



 

 

• 25 𝟏 + 𝟎, 𝟐𝟓

• 25 𝟏 − 𝟎, 𝟐𝟓

1 + 0,25 = 1,25 1 − 0,25 = 0,75

+ 38 % 1 + 0,38 = 1,38
+ 5 % 1 + 0,05 = 1,05

− 45 % 1 − 0,45 = 0,55
− 4 % 1 − 0,04 = 0,96

• 𝑡 % 1 +
𝑡

100

• 𝑡 % 1 −
𝑡

100
𝑡

100

𝑡

100



 

𝑉0

𝑉1

𝑡 =
𝑉1−𝑉0

𝑉0

𝑡 > 0

𝑡 < 0

 

5 % 20 %

1,05 × 1,20 = 1,26 → 26 %



 

25 %

1

1,25
= 0,80 = 1 − 0,20 → 20 %


